> A
A & 0l & AF 2 E A A
20178 &= =0l& LBl H ot
2AM: A
H: oA (ZELXNS ML /=T)
chel: ot el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot & ot 21,875,606 18,768,931 3,106,675
= 7,250,000
Xl 2,334,000
= 2,182,000
Al 10,109,606
ot A (ZELXGME/=XH) 11,202,090 9,277,664 1,924,426
= 5,690,000
< 1,714,000
Al 3,798,090
St& 2tel 11,202,090 9,277,664 1,924,426
= 5,690,000
= 1,714,000
Al 3,798,090
XNgata HE = 1,381,802 1,921,408 A 539,606
401 AIEHI L 201 1,381,802 1,921,408 A 539,606
01 A& HI 1,372,132 1,914,208 A 542,076
ONMBLBONL BAH(2=BIA M)
500,000,000& = 14l * 99.28/100 496,400
OAH LTH HSH 2H=PAY
60,000,000& = 14l * 99.1/100 59,460
OB4+H LTH ZMH =AY
13,000,000 = 14l * 99.1/100 12,883
O&x=H 23& SIIMH =ol=2A
1,409,000 = 140m * 99.28/100 195,840
OB$0 SHE SHH +HIPAY
1,409,000& = 60m * 99.1/100 83,780
0248 N&E S2H +H=TAY
53,000,000 * 14l * 99.1/100 52,523
OHtola gz a2 (2su~8&0) A4
2 B 400,000& * 100m * 98.92/100 39,568
O2% 0eol 2=0IAE B
50,000,000 * 14l * 99.1/100 49,550
OME AE=S HE=ZA
1,000,000 * 100m * 99.1/100 99,100
OE2& ANE=E HEFSA
800,000& = 50m * 98.92/100 39,568
OXEotd MolASX R ASE+=Z A
30,000,000 = 2Jf4 = 99.10/100 59,460
OEMMEN(ME, )X L oA
4,000,000& = 23| = 404 & 32,000
OMBEX (BHOITIE~H A1) DI
50,000,000 = 13l 50,000
OXLatA otadH UL (SH)
800,000 = 2CH = 60 & 96,000
OMBAT 222l (% L 22)
2,000,000& = 33l 6,000
03 A& =TI 9,670 7,200 2,470




2AM: A
H: oA (ZELXNS ML /=T)
chel: stEael (er:@e)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONEZH HESAH (o AEA)
500,000,000 = 14 * 0.72/100 3,600
Ot 238 WHEM =S FAY
60,000,000& = 1Al = 0.9/100 540
OZ+d 238 ZUH =S FAY
13,000,000& = 14! * 0.9/100 117
OZ=+H 23& FIIH =dsS72AY
1,409,000 * 140m * 0.72/100 1,421
OZ=+H 2HdE SHM =ol=sSFAY
1,409,000& * 60m = 0.9/100 761
O2xH M S2M =oAL
53,000,000& = 1Al = 0.9/100 477
OHtoI A g%z tax2(BAs~-83) AlEg 2
= 400,000 = 100m = 1.08/100 432
O2F HEol 2s0AME B
50,000,000& = 14l = 0.9/100 450
OME AIE2 HE=ZA
1,000,000 = 100m * 0.9/100 900
OH2E ANES HES=SA
800,000& = 50m * 1.08/100 432
OXZgsotd Mo X7 2USE=SA
30,000,000 = 2Ji4 = 0.90/100 540
StEAIE =S &2 231,388 256,256 A 24,868
101 @124l 113,344 120,600 AT,256
04 JIZHHZ2Z2XNESE S 113,344 120,600 AT,256
ONMAEXN(HTD-BAHW)XC L sz 22
o= 51,7603 * 20 » 50 51,760
OMEEX Jts2 Jts0ll HE Mg AR
e 3,000,000& = 53] 15,000
ONMEMENSIE A2 R
51,7603 = 2¥ = 100 10,352
OotHtola gz =8¢ ZHJ] 92
51,7603 * 20H » 20 20,704
OHloIaEstEL=Z stEa e 2
51,760& = 2% = 50 5,176
OXgotd =HES Y &Yl 22
51,7603 * 4% « 52 + 10J4ctA 10,352
201 2et24d] 106,810 111,750 A 4,940
01 AP 2teltl 39,650 38,850 800
OJdlsXtesI sl 23,150
— A3 HFHY 70,0008 * 23H x 10 16,100
— A e 30,0003 = 23H » 5¢ 3,450
— ¥ FA0HH 90,000& = 5% = 8¢ 3,600
OEAHE =N 7l 1,800
—HESHE & A2 2dRXNE
50,000& = 123l 600




2AM: A
H: oA (ZELXNS ML /=T)
chel: stEael (er:@e)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— A4 S$otd 25,0003 = 43 » 12& 1,200
OHAHHdEE T2 ¢ 6,800
— & ¥ oY 2208 |RAE=>
600,000& = 34 1,800
—4dAZESE CADEZ208 2
5,000,000& = 14 5,000
OEAHARY 2t R0 35,0002 » 2002 7,000
OJdlsXefds &89 MA
60,000& * 153 900
02 2=2Z 4l 67,160 72,900 A5,740
ONMEEXZE Jts dJI2= 1,300,000& * 5& 6,500
OANEI2SE & ZEX Jts 8IIe3
1,000,000& = 9& 9,000
OdEL Jis HIIR2B 700,000& » 3= 2,100
O=s23 JI2s, ctHt2 Jts dIIe3
700,000& = 10& 7,000
Ogdd Jits:2 & FEXLIs dIIR=s
700,000& = 10& 7,000
OANRI2SE & ZEX Mot=ER=
1,000,000& * 9& 9,000
OMEEIZ MI|LH N2 =2
130,000& * 12& 1,560
OME=LZ J|H & Scl&dot ==cl
1,000,000& * 53 13l 5,000
OANRI2SE ¢ SIS JIH =21 & uH
1,000,000& * 58 13l 5,000
O=s23 JI2s, ctbte J1H =2l
500,000& = 58 = 13l 2,500
08 XU AI JIA, =21 %2l
200,000& = 38 * 23l 1,200
ONEZZ 2 NO2SH ¥ =X H2
400,000& = 53 * 13 * 2JHA 4,000
OME &Il NEE 24
150,000& = 128 * 13l 1,800
Ottol2=2stegdz EE2X AERS3
400,000& = 13 400
Ot zst8eE dH dIIRa
70,0003 * 5I 4 + 12& 4,200
Otolazst8eE dH stEd 2
150,000& * 3JH & * 23] 900
206 M= Hl 11,234 13,906 N2,672
01 =8l 11,234 13,906 N2,672
oxgzel Mz #¢ 3,400
—HlZ 5,000& = 100&Z = 23| 1,000
— Eldl 20,000& = 10& = 23l 400
— 23X 2eE ZM P
1,000,000& * 23 2,000




S G ED
M GtAZ(ZELXANL/2=Te)
oo iR e (&9 &)
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlgﬁ HD=2
O=ATR ¢ 200,000 * 5% 1,000
OXCIZI ST 3,384
—3ee 1,4102 300216 * 8= 3,384
Ozsg 2 gk o) 22 8 1Y
400,0002 * 23] 800
OUSRAS 21 22 2 AX
1,000,000 * 200 & 2,000
oHtolA etz 0IlSAIGAA A 2
50,0008 * 1300 A 650
()X SotEHH (DE &) 2,284,000 4,000,000 A1,716,000
=2 1,370,000
[ 274,000
Al 640,000
401 AlEHI 2 =0hY] 2,284,000 4,000,000 A1,716,000
=2 1,370,000
[ 274,000
Al 640,000
01 Al&HI 2,275,778 3,989,200 A1,713,422
Oded Dol 2 HHALY
2,284,000,0002 * 141 * 99.64/100 2,275,778
=2 1,370,000
[ 274,000
Al 631,778
03 Al 2 HH 8,222 10,800 A2 ,578
Oded Dol 2 HHALY
8,222,000 * 14l 8,222
()N LS (ME, =H) 7,200,000 3,100,000 4,100,000
=2 4,320,000
[ 1,440,000
Al 1,440,000
401 AlEHI 2 =20 7,200,000 2,700,000 4,500,000
=2 4,320,000
[ 1,440,000
Al 1,440,000
01 Al&HI 6,729,525 2,189,920 4,539,605
OMB R T GH& THaHO &AL
4,250,000,0002 * 14! % 99.73/100 4,238,525
=2 2,700,000
[ 900,000
Al 638,525
OZFHX T Gt THaHOl &AL
2,500,000,000& * 141 * 99.64/100 2,491,000
=2 1,620,000
(= 540,000
Al 331,000
02 Zteldl 450,000 500,000 A50,000
OMB R GHE THHO 2 AL
250,000,000 * 14l 250,000

_4_




2AM: A
H: oA (ZELXNS ML /=T)
chel: ot el (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=AHX 7 ot THofl ol 2 At
200,000,000& * 14 200,000
03 Al 2 THHI 20,475 10,080 10,395
OMBE X7 St& THofl Off 2 At
4,250,000,000& = 1Al % 0.27/100 11,475
O=AHX 7 ot& THofl ol 2 At
2,500,000,000& = 14! = 0.36/100 9,000
=Y Ad2 72l 104,900 0 104,900
201 £B-2dH| 18,900 0 18,900
01 At 224l 1,000 0 1,000
OHFHIAZHIALY At 22l
1,000,000& * 14 1,000
02 =224l 17,900 0 17,900
O251,80/1 LepZEZS &HIIRS
200,000& =« 83 1,600
O8I d1,2 8JIe= 500,000&  12& 6,000
OSZHEZZ (YY) AIIRS
1,300,000& * 7& 9,100
O=&ds3ot=HMAE HIIR=s
100,000& * 12& 1,200
401 A& HIZ 201 8] 86,000 0 86,000
01 A& HI 86,000 0 86,000
OSLHEZZ (LY )T 8AY 2HE
10,000,000& * 14 10,000
O32dS30IFEA dt=HelAldE sX&2
10,000,000& * 14 10,000
OE2H S4&2 AE AXI(FUEOUA)
20,000,000& * 14l 20,000
OE2H OfALAZHE LI/ EX(FE
Of Ofl &F) 46,000,000& * 14l 46,000
Hol 2 (SSEMUHE /TS - 2129]) 7,472,636 8,789,937 A 1,317,301
X 2,334,000
Al 5,138,636
ot & | 7,472,636 8,789,937 A 1,317,301
Xl 2,334,000
Al 5,138,636
A0tE - BEARY 2,154,135 1,087,937 1,066, 198
101 @14 dl 18,634 15,437 3,197
04 JIZHHZ2XRHEE S 18,634 15,437 3,197
OtSt2Adt&IIRI| 12
51,7603 = 4F QA » 10 18,634
401 AIEHI L 2 0] 2,135,501 1,072,500 1,063,001
A& HI 2,129,043 1,062,852 1,066, 191
Oasdtd 2= 1,050,000




2AM: A
B AT (SREMLOE /LS - 2gsl)
el GtE I (29l 8)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— A0ot& (19804 ) S Xl&2]
1,000,000& * 100km 100,000
— &0t Tl B
30,000,000& * 504 150,000
— AGHEEZEZHIANE M8 EA(2AE N
&,234) 200,000,000& * 14 200,000
— ACHESEEUAHE H-E82(HWEE . E
AR Lot a) 200,000,000& * 14 200,000
— AGHEZEFHIAE MBEA(ZAHE . =
HE GAH) 200,000,000& * 14 200,000
— AGIEZEEHIANE M-BESA(S0E .2
WA, SHA AE HA2E IIEH
200,000,000& * 14| 200,000
Ool=2AI (LGHEEH]) 849,043
—Z2JIS &tgHel LHAGHE FHETRSA
500,000& * 115m * 99.10/10 56,983
— 0l LHEel tHEAGSHE sl =S 7S A
500,000& * 270m * 99.28/100 134,028
—0laE LHgel LHEAstE &1 &l =l
=73 At 60,000,000& * 14] * 99.10/100 59,460
—0l&tH S22 HEASHE o= R3A
500,000 = 40m * 98.92/100 19,784
—0l&tH S&1el LHEAGHE o= 23 A
500,000& = 20m 10,000
—0l&tH XIES1el E2A0tE o= 72 3A
500,000& = 16m 8,000
— 0l 2212 FXN=A0tE sl SFSA
500,000& = 20m 10,000
—E% el 22 A0S ol =R ZA
500,000 = 55m * 98.92/100 27,203
— 208 XZH12l ZM2A0tE = SFSA
500,000& = 10m 5,000
— 8 Zso 2EA0E FHEFRSA
500,000& = 30m 15,000
— &0 gt3e S2A5tE oiEFRSA
500,000& = 30m 15,000
— &0 SH2 S EA0E F=oHEFRSA
500,000& = 40m * 98.92/100 19,784
— &0 Z4te] BEAGHE FoHEFRSA
500,000& = 20m 10,000
—EH SEL RURZSA0HE o273
At 500,000& = 15m 7,500
—HEO S| SLAGHE o= R 3 A
500,000& = 30m 15,000
—QHEE Zate| AtHAGHE ol SRS A
500,000& = 35m 17,500
—OtE O MEe QEAGHE F=oHERSA
500,000 = 40m * 98.92/100 19,784




2AM: A
FH: THol 22 (SSEMUHE /TSI - 2rekel)
el GtE I (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—OrEOl otlel 29401d FHE RS A
500,000 = 40m * 98.92/100 19,784
— ol U BYo BULGE LHZIDA
500,000 = 60m * 98.92/100 29,676
—S8H 2812l SXHAGHE =23 A
500,000& * 270m * 99.28/100 134,028
—S8H 2812 LEAGHE FHERSA
500,000 = 70m * 98.92/100 34,622
— S8Y |fE22 HEH0 A6 olE72S
At 500,000 = 65m * 98.92/100 32,149
—=8H otE1El SHMAGHE o= RS A
500,000 = 50m * 98.92/100 24,730
— & 2332 01]AGHE iSRS A
500,000& = 50m * 98.92/100 24,730
—CIAD! Dbl DFAGHE 2SI A
500,000 = 40m * 98.92/100 19,784
—CAtel SRR QAABHE A =R A
500,000& = 10m 5,000
— 20 AR BUHSAGE SH=DDA
500,000& = 30m 15,000
—SAO AR1Z BOIASE AHSDTA
500,000 = 45m * 98.92/100 22,257
— 2480 el 2HAGHE =oHE2SA
500,000 = 45m * 98.92/100 22,257
~ SIS WOASA SH=RBA
15,000,000& * 14 15,000
OO0latH Re| st AGHE HUISAHFE 0
&h) 250,000& = 400m 100,000
ORA&H ATHA MEHGHE =& AR (=820 0l
&h) 150,000& * 200m 30,000
O0latdH Xs32l &7 A5 BASAM(FLUEO
Ol &) 500,000& = 200m 100,000
03 Al 2 THHI 6,458 9,648 A 3,190
O=oi=7 AL (AGHEEH]) 6,458
—EJIg APl MBAGE SHSPIA
500,000& = 115m * 0.9/100 518
—0l&tH LHE el WEAGHE =SS A
500,000& = 270m * 0.72/100 972
—0l&HH LHEel LHEAotdE 21 HbHl ol
SR 3A 60,000,000& * 14! = 0.9/100 540
—0l&EH S322 HEAGHE == SA
500,000& = 40m * 1.08/100 216
— 240 OuH2 22458 SHZRDA
500,000& * 55m * 1.08/100 297
—Z40 SH2 SYLGE FHZRTA
500,000& * 40m * 1.08/100 216
—OtE M ME QEAGHE =SR2 SA
500,000& = 40m * 1.08/100 216




2AM: A
FH: THol 22 (SSEMUHE /TSI - 2rekel)
ot & & dl (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—QHEO oty SLAGHE SR SA
500,000& = 40m * 1.08/100 216
—OtE O S SLAGHE FHERSA
500,000& = 60m * 1.08/100 324
—S8H 2812l SXHAGHE =23 A
500,000& = 270m * 0.72/100 972
—S8H 2812 LEAGHE FHERSA
500,000& = 70m * 1.08/100 378
— S8Y |fE22 HEH0 A6 olE72S
At 500,000& = 65m * 1.08/100 351
—=8H otE1El SHMAGHE o= RS A
500,000 = 50m * 1.08/100 270
—CHAE 232 0IRASHE AHSRTA
500,000 = 50m * 1.08/100 270
— e Orstel Ot Aste ol SRS A
500,000 = 40m * 1.08/100 216
—SAO AR1Z BOIASE LHSRTA
500,000 = 45m * 1.08/100 243
~2AD Yo HUASHE AH=ERTA
500,000 = 45m * 1.08/100 243
(2)LoHEIHI(ME) 4,308,000 7,252,000 A 2,944,000
Xl 2,154,000
Al 2,154,000
401 AIEHI L 2CHEI 4,308,000 7,252,000 A 2,944,000
X 2,154,000
Al 2,154,000
01 A& tl 4,288,577 7,231,513 A 2,942,936
O A0tE HHISA
842,000,000& * 14l * 99.37/100 836,696
X 421,000
Al 415,696
OSAAactd FHISA
3,010,000,000& = 14l = 99.64/100 2,999,164
X 1,505,000
Al 1,494,164
O2gAadtd FHISA
456,000,000& = 14l * 99.28/100 452,717
X 228,000
Al 224,717
03 Al 2 THHI 19,423 20,487 A 1,064
OHGAdtE HHISA 5,304,000& * 14l 5,304
Os2A0td U SA
3,010,000,000& = 14l * 0.36/100 10,836
O Aotd HHISA 3,283,000& = 14 3,283
NI &2 At 650,501 450,000 200,501
401 AIEHI L 20 650,501 450,000 200,501
01 A& Hl 647,597 445,761 201,836




2 &
B AT (SREMLOE /LS - 2gsl)
Chl: olE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ONA THoHRAE X P 22E 4
20,000,000 * 50 100,000
OZEJlg 2H¢cl A& HYIZAH(Z=SE 0l A
500,000& * 200m 100,000
OFlERAY (HMEEY]) 447 597
— 0|4t S22 N&E S=aiERZ2A
250,000 = 20m 5,000
— O] AR AlA32] MIE =HS P BAF
250,000 = 150m * 98.92/100 37,095
— O] AR AIA32] MIE =SSP BAF
250,000 = 60m 15,000
—0l&H XIs12l ME =S ZBA
250,000 = 40m 10,000
—0|&H 2222 ME =S 3A
250,000& * 80m * 98.92/100 19,784
—EH20H 212 2HE ME =l 2At
250,000 = 20m 5,000
— 240 H=Z22] EHE MHE =HERZ2AH
500,000 = 400m * 99.28/100 198,560
— 3808 R&12] ME HSP23A
250,000 = 130m * 98.92/100 32,149
— S8 H S22 ME =SB A
250,000& * 90m * 98.92/100 22,257
—=8H StAe A0 MA Lol =22 A
250,000 = 30m 7,500
— =59 Ef&22 HN&E F=HERZA
250,000 = 40m 10,000
— =50 &Adn2e HN&E F=ERZ2A
250,000 = 20m 5,000
— =20 UW=12l SH MH&E =72 2A
23,000,000 = 14! %= 98.92/100 22,752
— 2% 712 62S NE +H=RIA
250,000 = 60m 15,000
=20 B2 23200 A S2HSDIA
250,000 = 70m 17,500
— =20 Xs12l M&E =S 3A
250,000 = 50m 12,500
— =50 H222] NXH™O HN&E =22
A 250,000 = 50m 12,500
03 Al 20| 2,904 4,239 A 1,335
O%ol=ERAIY (M AH) 2,904
— O] AFSE AlA32] MIE FoHERZ2A
250,000& = 150m = 1.08/100 405
—0|4&HR 2222 ME FHERZ2A
250,000€ * 80m * 1.08/100 216
— 240 M2l @HE NAE SH=RA
500,000& * 400m * 0.72/100 1,440
— 2808 812 M&E FHERZ2A
250,000& = 130m = 1.08/100 351
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2N
X ZH -
L= B

el

z= o

FOCINE!
o K

R
1[5
A
x
He
e
pal
~
=
c
L
=
=
0z
40

ol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

— S8 H2el AE == FSA
250,000& * 90m * 1.08/100 243
— =28 U=12 SAH HE =S F3A

23,000,000& = 1Al * 1.08/100 249

()L FH (ME)(SY) 360,000 0 360,000
Xl 180,000
Al 180,000

401 AIEHIZL 2 I 360,000 0 360,000

Xl 180,000
Al 180,000

01 A& HI 357,408 0 357,408
O actd FHISA
360,000,0008 = 141 * 99.28/100 357,408

Xl 180,000
Al 177,408

03 Al 2 THHI 2,592 0 2,592

360,000,000 * 14l = 0.72/100 2,592

MHoHRAS X HU(SBSEMLH /TS - elehel) 3,120,000 620,000 2,500,000
,560,000
468,000
,092,000

—

= W

—

Folats Xl 2el 3,120,000 620,000 2,500,000
,560,000
468,000
,092,000

—

= N H

—

(B)WHAE XN SHHI(SH KX F) 2,320,000 620,000 1,700,000
, 160,000
348,000
812,000

—

= N H

401 AIEHIZ 2 I 2,320,000 620,000 1,700,000
, 160,000
348,000
812,000

—

= HnH

01 A& HI 2,311,648 616,094 1,695,554
OSAHAXN T MHATHHASIHEX 7 ZHAS
2,320,000,000& = 141 % 99.64/100 2,311,648

, 160,000
348,000
803,648

03 A2 2 THHI 8,352 3,906 4,446

OSAHAXZ MHATHHASZIHEX 7 ZHAS
2,320,000,000& = 1Al * 0.36/100 8,352

.

Z W

(BIWHAE NS FHH (=X F) 800,000 0 800,000
400,000
120,000
280,000

= N H




2AM: &
Ha: WHISK MU (STENLOE /LT - 2lee)
el aaABX B GEERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 800,000 0 800,000
= 400,000
T 120,000
Al 280,000
01 A& HI 794,960 0 794,960
NP HAMMHAEMNSA X 2 Ul ALY
800,000,000& = 14! = 99.37/100 794,960
= 400,000
= 120,000
Al 274,960
03 Al&E 201l 5,040 0 5,040
2N ? HATMMHAEMNSE X 2 ALY
800,000,000 = 14! = 0.63/100 5,040
HMSH B (otA ) (JIEH/IIE 80,880 81,330 AN 450
DIR= sl 80,880 81,330 AN 450
JlE2&l 80,880 81,330 AN 450
201 LEt2 Y| 19,980 19,980 0
01 At 2t 2l Yl 19,980 19,980 0
O=sAMEXN 7 15,000& * 158t A x 12& 2,700
OEZ A 6,000& * 64l x 15H = 128 6,480
Ogbteg 100,000& * 12& 1,200
O A7 50,000& = 12& 600
OAxrE2 =44 8,100
—Z2A(HEY) =2l 1,000,000& = 1CH 1,000
—Z2lH %2 100,000 * 4CH = 50/100 200
— 2A EY 200,000& * 53 « 104 1,000
— Z2IE (&%) EH4  200,0008 * 53] * 404 4,000
— D2IE (Zet) EW 200,0008 * 53 « 104 1,000
— PC=2l 100,000 = 1504 = 20/100 300
— J|IEF =2lb]| 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 15 x 12& 900
202 04| 56,700 56,700 0
01 2LHOHI 56,700 56,700 0
Odtd 1 2= I 56,700
— 2L o B 20,0008 » 15Y * 122 x 12& 43,200
— 2204 bl 90,000& » 15H = 10 13,500
203 & R =&H| 3,000 3,000 0
04 2SI LR F=AH| 3,000 3,000 0
ORANBELERFAH| 250,000& = 12& 3,000
204 & 2 =2 ZF H| 1,200 1,200 0
01 MM R-HAY| 1,200 1,200 0
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